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Question Id : 9209066881 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra’'s MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJPs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena's constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key player in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Rebia case) to a large bench because of
contradictory reasoning”. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other critical actor in defection is the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC's stance is very clear. The
rajyvapals should take note.

Sub questions

Question Number : 1 Question Id : 9209066882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The word meddle refers to:

(1) Mediator, who brings about an agreement.
(2) Medial, that is situated in middle.
(3) One who interferes that is not one’s concern.

(4) Meek, one whao is gentle.

Options :

92090627201. 1
92090627202. 2
92090627203. 3
92090627204. 4

Question Number : 2 Question Id : 9209066883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement [l are incorrect

(3) Statement [ is true but Statement I is incorrect

(4) Statement [ is false but Statement I is correct
Options :

92090627205. 1
92090627206. 2
92090627207. 3
92090627208. 4

Question Number : 3 Question Id : 9209066884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements read the following statements:

Statement [ : A floor test is not the platform to resolve interparty dispute.

Statement 11 : The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement I1 are incorrect

(3 Statement [ is true but Statement I1 is incorrect

(4) Statement I is false but Statement II is correct
Options :

92090627209. 1
92090627210. 2
92090627211. 3
92090627212. 4

Question Number : 4 Question Id : 9209066885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.
Options :

92090627213. 1
92090627214. 2
92090627215. 3
92090627216. 4



Question Number : 5 Question Id : 9209066886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B} relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(DD based on such reasoning which were denying the truth by asserting the opposite.

(1) (A), (B)
(2) (B), (C)
(3) (A), (C)
(4) (B). (D)

Options :

92090627217. 1
92090627218. 2
92090627219. 3
92090627220. 4
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Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra's MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJFs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena’s constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key playver in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Hebia case) to a large bench because of
contradictory reasoning”. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other ecritical actor in defection i1s the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC’'s stance is very clear. The
rajyapals should take note.

Sub questions

Question Number : 1 Question Id : 9209066882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word meddle refers to:

(1)

Mediator, who brings about an agreement.

(2) Medial, that is situated in middle.
(3) One who interferes that is not one's concern.
(4) Meek, one who is gentle.

Options :

92090627201. 1
92090627202. 2



92090627203. 3
92090627204. 4

Question Number : 2 Question Id : 9209066883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement [l are incorrect

(3) Statement [ is true but Statement I is incorrect

(4) Statement [ is false but Statement I is correct
Options :

92090627205. 1
92090627206. 2
92090627207. 3
92090627208. 4

Question Number : 3 Question Id : 9209066884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements read the following statements:

Statement I : A floor test is not the platform to resolve interparty dispute.

Statement 11 :  The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1 Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement [ is true but Statement Il is incorrect

(4) Statement I is false but Statement II is correct
Options :

92090627209. 1
92090627210. 2
92090627211. 3
92090627212. 4

Question Number : 4 Question Id : 9209066885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.
Options :

92090627213. 1
92090627214. 2
92090627215. 3
92090627216. 4

Question Number : 5 Question Id : 9209066886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B) relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(D) based on such reasoning which were denying the truth by asserting the opposite.

(1) (A). (B)
(2) (B). (C)
(3) (A). (C)
(4) (B), (D)

Options :

92090627217. 1
92090627218. 2
92090627219. 3
92090627220. 4

Sub-Section Number : 2
Sub-Section Id : 920906220
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209066887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Your behavior is not cricket means you have not behaved

(1) in intelligent manner
(2) in an honourble way

(3 As a dark horse

(4) 1n 4 couragious manner.
Options :

92090627221. 1

92090627222. 2

92090627223. 3

92090627224. 4

Question Number : 6 Question Id : 9209066887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Your behavior is not ericket means you have not behaved

(1) in intelligent manner

(2) in an honourble way

(3) As a dark horse

(4) in & couragious manner.
Options :

92090627221. 1
92090627222. 2
92090627223. 3
92090627224. 4

Question Number : 7 Question Id : 9209066888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT" 1s:

(1 Grant
(2)  Agree
(3) Permit
i(4) Accept
Options :

92090627225. 1
92090627226. 2
92090627227. 3
92090627228. 4

Question Number : 7 Question Id : 9209066888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT” is:

(1) Grant
(2) Agree
(3 Permit
i(4) Accept
Options :

92090627225. 1
92090627226. 2
92090627227. 3



92090627228. 4

Question Number : 8 Question Id : 9209066889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE” is:

1) Donation
2) Support

(
(
(3 Espionage
(4) Beneficiary
Options :
92090627229. 1
92090627230. 2
92090627231. 3

92090627232. 4

Question Number : 8 Question Id : 9209066889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE" is:

1) Donation

(

(2) Support
(3) Espionage
(

4) Beneficiary
Options :
92090627229. 1
92090627230. 2

92090627231. 3
92090627232. 4
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option that inproves the given statement grammatically. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.
{2) A majority of students believe that the examinations have been necessary.
(3) A majority of students helieve that the examinations are being necessary.
(4) No improvement.

Options :

92090627233. 1
92090627234. 2
92090627235. 3
92090627236. 4

Question Number : 9 Question Id : 9209066890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option that inproves the given statement grammatically. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.
(2) A majority of students believe that the examinations have been necessary.
(3) A majority of students believe that the examinations are being necessary.
(4) No improvement.

Options :

92090627233. 1
92090627234. 2
92090627235. 3
92090627236. 4

Question Number : 10 Question Id : 9209066891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with circular currents of water, which can pull objects down into it: -

(1 Wheel lock (2)  Wheelic
(3 Wheeler (4) Whirlpool
Options :

92090627237. 1



92090627238. 2
92090627239. 3
92090627240. 4

Question Number : 10 Question Id : 9209066891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with circular currents of water, which can pull objects down into it: -

(1) Wheel lock (2) Wheelic
(3 Wheeler (4) Whirlpool
Options :

92090627237. 1
92090627238. 2
92090627239. 3
92090627240. 4

Question Number : 11 Question Id : 9209066892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money invested on simple intrest at 15% per annual fetched Hs 10,350 as
intrest in 3 yvears find the sum invested

(1) Rs.22800
(2) Rs.23000
(3) Rs.24000
(4) Rs.24500

Options :

92090627241. 1
92090627242. 2
92090627243. 3
92090627244. 4

Question Number : 11 Question Id : 9209066892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A certain sum of money invested on simple intrest at 15% per annual fetched Rs.10,350 as
intrest in 3 vears find the sum invested

1) Rs.22800

2) R=.23000

3 Rs.24000

1) Rs.24500

o

(
(
(
(

Options :

92090627241. 1
92090627242. 2
92090627243. 3
92090627244. 4

Question Number : 12 Question Id : 9209066893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
B0cm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much vthe water level increases?

(1) 25em
(2Z) 22 Hem
(3) 22em
(d) 21 8cm

Options :

92090627245. 1
92090627246. 2
92090627247. 3
92090627248. 4

Question Number : 12 Question Id : 9209066893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
BOcm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much ythe water level increases?

(1) 25cm
(2) 22 5em
(3) 22em
(4) 21.8Bem
Options :

92090627245. 1
92090627246. 2
92090627247. 3
92090627248. 4

Question Number : 13 Question Id : 9209066894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs. 42000. After 2 month Reena joined her by
investing Hs. 35000. Profit at the end of 10 month was Rs.315% Heena's share in the profit
(in Rs.) is;

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090627249. 1
92090627250. 2
92090627251. 3
92090627252. 4

Question Number : 13 Question Id : 9209066894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs, 42000. After 2 month Reena joined her by
investing Rs. 35000. Profit at the end of 10 month was Rs.315% Reena's share in the profit
(in Bs.) is:

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090627249. 1



92090627250. 2
92090627251. 3
92090627252. 4

Question Number : 14 Question Id : 9209066895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x” is the following 1024724243 = x2+5

(1) 21 (2)
(3) 23 (4)

]
b2

[ ]
T

Options :

92090627253. 1
92090627254. 2
92090627255. 3
92090627256. 4

Question Number : 14 Question Id : 9209066895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x” is the following 1024+74243° = x24+5

(1) 21 (2)

2
(3) 23 (4) 2

frd

Options :

92090627253. 1
92090627254. 2
92090627255. 3
92090627256. 4

Question Number : 15 Question Id : 9209066896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

day and walk with speed 1% times of the previous speed then in how many days will he

cover 540km?

(1) 39 2y 33
(3) 35 (4) 37

Options :

92090627257.
92090627258.
92090627259.
92090627260.

N O R O R

Question Number : 15 Question Id : 9209066896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

day and walk with speed 'I% times of the previous speed then in how many days will he

cover 840km?

(1) 39 2y 33
(3) 35 (4) 37

Options :

92090627257.
92090627258.
92090627259.
92090627260.

N O R S R

Question Number : 16 Question Id : 9209066897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Ravi?

(1) Grandfather
(2) Father

(3 Uncle

(

4) Brother- in- low

Options :



92090627261. 1
92090627262. 2
92090627263. 3
92090627264. 4

Question Number : 16 Question Id : 9209066897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Havi?

(1) Grandfather
(2) Father
(3 Uncle

(

4) Brother- in- low

Options :

92090627261. 1
92090627262. 2
92090627263. 3
92090627264. 4

Question Number : 17 Question Id : 9209066898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
(3) 5]
(4) 6
Options :

92090627265. 1
92090627266. 2
92090627267. 3
92090627268. 4

Question Number : 17 Question Id : 9209066898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
(3) 5]
(4) 6
Options :

92090627265. 1
92090627266. 2
92090627267. 3
92090627268. 4

Question Number : 18 Question Id : 9209066899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 478?

(1) 470
(Z) 487
(3) 471
(4) 474
Options :

92090627269. 1



92090627270. 2
92090627271. 3
92090627272. 4

Question Number : 18 Question Id : 9209066899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 478?

(1) 470
(2) 487
(3) 471
(4) 474

Options :

92090627269. 1
92090627270. 2
92090627271. 3
92090627272. 4

Question Number : 19 Question Id : 9209066900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Answer the following question by studying the statement and assumptions.
Statemenent: - 1t is desirable to put the child in school at the age of 5 or 50.

Agsumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[I. The schools do not admit children after six years of age.

(1) Only assumption I iz implicit.
(2 Only assumption Il is implicit.
(3 Either I or 11 is implicit.

(4) MNeither | or I is implicit.

Options :

92090627273. 1
92090627274. 2
92090627275. 3
92090627276. 4



Question Number : 19 Question Id : 9209066900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Answer the following question by studying the statement and assumptions.
Statemenent: - It is desirable to put the child in school at the age of 5 or 50.

Assumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[1. The schools do not admit children after six yvears of age.
(1) Only assumption I iz implicit.
(2) Only assumption 1 is implicit.
(3) Either I or Il is implicit.
4 Meither I or 11 is implicit.

Options :

92090627273. 1
92090627274. 2
92090627275. 3
92090627276. 4

Question Number : 20 Question Id : 9209066901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
wialks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2) 6 km southwest

(3 5 km southwest

i(4) 5 km northeast

Options :

92090627277. 1
92090627278. 2
92090627279. 3
92090627280. 4

Question Number : 20 Question Id : 9209066901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
wialks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2) 6 km southwest

(3 5 km southwest

i(4) 5 km northeast

Options :

92090627277. 1
92090627278. 2
92090627279. 3
92090627280. 4

Question Number : 21 Question Id : 9209066902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT :

List I List I1
Term Deal with
{A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
(C)  Olericulture (III) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(IV), (C)-(1), (D)-(I1I)
(2) (A)-(IID), (B)-AV), (C)-(I), (D)-(1I)
( )-
( )-

i

3) (A)-(IV), (B)-(I1), (C)-(1), (D)-(I1I)
4) (A)-(1I), (B)-(IV), (C)-(I1T), (D)-(I)

Options :

92090627281. 1
92090627282. 2
92090627283. 3
92090627284. 4

Question Number : 21 Question Id : 9209066902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List II
Term Deal with
(A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
(C)  Olericulture (IIT) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(IV), (C)-(1), (D)-(I1L)
(2 (A4)-(IID), (B)-(IV), (C)-(I), (D)-(1T)
(3 (A)-(IV). (B)-(ID), (C)-(I). (D)-(I1T)
(4) (A)-(1I), (B)-(IV), (C)-(I1I), (D)-(T)

Tt

Options :

92090627281. 1
92090627282. 2
92090627283. 3
92090627284. 4

Question Number : 22 Question Id : 9209066903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3) Propane and Benzane

(4) Propane and Ethane

Options :

92090627285. 1
92090627286. 2
92090627287. 3
92090627288. 4

Question Number : 22 Question Id : 9209066903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3) Propane and Benzane

(4) Propane and Ethane

Options :

92090627285. 1
92090627286. 2
92090627287. 3
92090627288. 4

Question Number : 23 Question Id : 9209066904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

(C)  The first Indian to go into space iz Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1) (A) & (B) only

(2) (A). (B) and (C) only
(3 (B) and (D) only

(4) (B) and (C) only

Options :

92090627289. 1
92090627290. 2
92090627291. 3
92090627292. 4

Question Number : 23 Question Id : 9209066904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

(C)  The first Indian to go into space iz Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1)  (A) & (B) only

(2) (A). (B) and (C) only
(3 (B) and (D) only

(4) (B) and (C) only

Options :

92090627289. 1
92090627290. 2
92090627291. 3
92090627292. 4

Question Number : 24 Question Id : 9209066905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090627293. 1
92090627294. 2
92090627295. 3
92090627296. 4

Question Number : 24 Question Id : 9209066905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090627293. 1
92090627294. 2
92090627295. 3
92090627296. 4

Question Number : 25 Question Id : 9209066906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 :  Funndamental dulies under article S1-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [1 are correct

(2) Both Statement I and Statement Il are incorrect

(3 Statement [ is true but Statement 11 iz incorrect

(4) Statement [ is false but Statement I1 is correct
Options :

92090627297. 1
92090627298. 2
92090627299. 3
92090627300. 4



Question Number : 25 Question Id : 9209066906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 :  Funndamental dulies under article 51-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement [ are correct
(2) Both Statement I and Statement I are incorrect
(3 Statement [ is true but Statement 11 is incorrect
(4) Statement [ is false but Statement II is correct

Options :

92090627297. 1
92090627298. 2
92090627299. 3
92090627300. 4

Part B: Rabindra Sangit

Section Id : 920906138
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear

Response : Yes



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 920906221
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209066907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the first up paryay (subeategory) of puja:

(1) Shesh (2) Prarthana
(3) Gaan (4) Biraha
Options :

92090627301. 1
92090627302. 2
92090627303. 3
92090627304. 4

Question Number : 26 Question Id : 9209066907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uell & WYH I99aiy & Rigifded Sifore

(1) = (2) wrdA
3) FIH (4) fovg
Options :

92090627301. 1
92090627302. 2
92090627303. 3
92090627304. 4

Question Number : 27 Question Id : 9209066908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who discovered the Bengali Tappagaan?

(1) Ramnidhi Gupla (2) Ram Kumar Chatropadhyay
(3) Desarathi Roy (4) Debendra Nath Tagore
Options :

92090627305. 1
92090627306. 2
92090627307. 3
92090627308. 4

Question Number : 27 Question Id : 9209066908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FIE TWRTH $ UGS HH 87

(1) AR I (2) IHPHR IO
(3) SERUII™ 4) =AY AR
Options :

92090627305. 1
92090627306. 2
92090627307. 3
92090627308. 4

Question Number : 28 Question Id : 9209066909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shamindra Nath Tagore was Rabindra Nath's:

(1) Father (2) Son
(3) Brother {4) Uncle
Options :

92090627309. 1
92090627310. 2
92090627311. 3
92090627312. 4

Question Number : 28 Question Id : 9209066909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

QAT SR, TESATY SR & B U7?

(1y foan (2 A
3) W (@) =mET
Options :

92090627309. 1
92090627310. 2
92090627311. 3
92090627312. 4

Question Number : 29 Question Id : 9209066910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the music master of Rabindra Nath from the following list:

(1) Jagadish Chandra Bose (2) Sri Kantha Singha
(3) Kshitimohan Sun (4) Nandalal Bose
Options :

92090627313. 1
92090627314. 2
92090627315. 3
92090627316. 4

Question Number : 29 Question Id : 9209066910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFgiferd il @ | =AY & Wi 1% B ugaH il

(1) S (2) Hiwia e
3) fafadeagA @) A<ad a9
Options :

92090627313. 1
92090627314. 2
92090627315. 3
92090627316. 4



Question Number : 30 Question Id : 9209066911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who discovered the Akarmatrik Notalion System?

(1)  Jyotirindra Noth Tagore (2) Satyendra Noth Tagore
(3) Bishunaryan Bhat Khande (4) Swame Pragnanonda
Options :

92090627317. 1
92090627318. 2
92090627319. 3
92090627320. 4

Question Number : 30 Question Id : 9209066911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BHRAMFS Hbd UUITE! & YOI i 47

(1)  ifad=m R 2) =AY TR
(3) fawERME Yo @3t (4) dTH! URUHG
Options :

92090627317. 1
92090627318. 2
92090627319. 3
92090627320. 4

Question Number : 31 Question Id : 9209066912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the Rabindra Sristha taal from the following list?

(1) Teoda (2) Mabatal
(3) Trital (4) Jhaptal
Options :

92090627321. 1
92090627322. 2
92090627323. 3



92090627324. 4

Question Number : 31 Question Id : 9209066912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fgifed g § 9 i< 948 a1 &1 [Eiied S|

(1) ddsT (2) gdrd
3) fIam@ (4) Zudrd
Options :

92090627321. 1
92090627322. 2
92090627323. 3
92090627324. 4

Question Number : 32 Question Id : 9209066913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To whom Tagore dedicated his drama ‘taserdesh'?

(1)  Satyendra Noth Tagore (2) Maharshi Debendra Nath Tagore
(3) Netaji Subhas Chandra Bose (4) Raja Rammohan Roy
Options :

92090627325. 1
92090627326. 2
92090627327. 3
92090627328. 4

Question Number : 32 Question Id : 9209066913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR 7 301 Aed T <2 [ gnfta

(1) Jd=a1y TR (2) Hel =y TR
(3) Tl guSES § (4) ST THHEA T
Options :

92090627325. 1



92090627326. 2
92090627327. 3
92090627328. 4

Question Number : 33 Question Id : 9209066914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Kakali’ is the Motalion Book of:

(1) Rajani Kanto Sen (2) Kazi Naerul Islam
(3) Dwijendra Lal Roy (4) Atul Prasad Sen
Options :

92090627329. 1
92090627330. 2
92090627331. 3
92090627332. 4

Question Number : 33 Question Id : 9209066914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HpTat Hgifdd 7 I et fd 82

(1) o Sl g (2) IS AoREd ST
3) fee=aam™ (4) 3fqd UG O
Options :

92090627329. 1
92090627330. 2
92090627331. 3
92090627332. 4

Question Number : 34 Question Id : 9209066915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which is not eomposed in Rag ‘Bhairabi'?

(1) Antara Mamo Bikashito Karo

(2) Daya Diye Habe Go Mor Jibandhute
(3)  Biswa Sathe Joge Jethay

(4) Taba Prem Sudha Rase

Options :

92090627333. 1
92090627334. 2
92090627335. 3
92090627336. 4

Question Number : 34 Question Id : 9209066915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fwifea & 9 b wiid &1 == v Adt § 78 @S 8

(1) 3= | SR &3 (2) <u1fdd gd M AR Siidd gd
3) fay TR &Ry @) dFUH U™
Options :

92090627333. 1
92090627334. 2
92090627335. 3
92090627336. 4

Question Number : 35 Question Id : 9209066916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the song which is eomposed in reg Bhimplalasree?

(n Bani Taba Dhay (2) Tomara Asime Pran Mono
(3) Bipula Taranga Re (4) Bina Bajao He Mamo Antare
Options :

92090627337. 1
92090627338. 2
92090627339. 3
92090627340. 4



Question Number : 35 Question Id : 9209066916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fifed § 9 fey 1Ma &t w1 Yiuradt I 8§ 9 1715 82

(1) ol dar 4™ (2) dER SRA U /-l
3) fegad@y (4) oo &S 8 /T 3
Options :

92090627337. 1
92090627338. 2
92090627339. 3
92090627340. 4

Question Number : 36 Question Id : 9209066917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct Division which is not used in Rabibdra Sangit?

(1) 3/2 (2) 2/3/2
3 23 4 3/2/2
Options :

92090627341. 1
92090627342. 2
92090627343. 3
92090627344. 4

Question Number : 36 Question Id : 9209066917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frmifea & | 5 Rur &1 wdn s W ia & T aar &2

(1) 3/2 (2) 2/3/2
(3) 273 4 37272
Options :

92090627341. 1
92090627342. 2



92090627343. 3
92090627344. 4

Question Number : 37 Question Id : 9209066918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct Division which is used in Rabindra Sangit:

(1) 5/2/3/4 (2) 2/3/2
(3)  3/2/2/3/4 (4) 5/2/3/4
Options :

92090627345. 1
92090627346. 2
92090627347. 3
92090627348. 4

Question Number : 37 Question Id : 9209066918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ydi= TTild ¥ U g9 91d Wel faum @61 fagifdd Sif|

(1) 5/2/3/4 (2) 2/3/2
(3)  3/2/2/3/4 (4) 5/2/3/4
Options :

92090627345. 1
92090627346. 2
92090627347. 3
92090627348. 4

Question Number : 38 Question Id : 9209066919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many part of (by visra Bharati Publication) Tagore's Gitabiton?

(1)  Five (2) Two
(3) Three (4) Four
Options :

92090627349. 1



92090627350. 2
92090627351. 3
92090627352. 4

Question Number : 38 Question Id : 9209066919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR & Hfigdtarq & faa yr § (@Y YR uaTeE gry) 2

(1) UH @ @
3y dHF @) IR
Options :

92090627349. 1
92090627350. 2
92090627351. 3
92090627352. 4

Question Number : 39 Question Id : 9209066920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the first song of Puja paryay (Divotional Category)?

(1) Tomar Surer Dhara Jhare (2) Tumi Kemon Kore Karohe
(3)  Kanna Hasirdol Dolano (4) Prathama Yuger Uday Digangane
Options :

92090627353. 1
92090627354. 2
92090627355. 3
92090627356. 4

Question Number : 39 Question Id : 9209066920 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ol vt &1 gy it (i Sita ot ofl) @@ g

(1) dHER IR IRTSIR 2 dH HHE W TH BRI
(3) ARSI SraA! (4) VYA R Ied e



Options :

92090627353. 1
92090627354. 2
92090627355. 3
92090627356. 4

Question Number : 40 Question Id : 9209066921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the first up ani Shadik Hymn of weekly Mondir of Santireketan?

(1)  Sangachhadwang Sombadadhwang
(2) Om Pitanosi Pitanobodhi Namastestu
(3)  Tami Swaranang Paramang Moheswaram

(4)  Om Asatoma Satgamaya Tamaso Ma Jyotirgmaya

Options :

92090627357. 1
92090627358. 2
92090627359. 3
92090627360. 4

Question Number : 40 Question Id : 9209066921 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QifafFdd & ries Afex &1 UyH IuFANles TWid o1 91 82
(1)  HT=Bg Harg=n

) 3 fUarER fOarEy TSy

(3) T TG URIHT HeyH
(4) 3 EIAH IdTHY dH SifaiHg

Options :

92090627357. 1
92090627358. 2
92090627359. 3
92090627360. 4

Question Number : 41 Question Id : 9209066922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the song which is not based on chowtal:

(1) Bani Tabo Dhayanantagagane (2) Prachanda Garjane Aasilo
(3) E Bharate Rakho Nitya Prabhu (4) Bhay Hote Taba Abhoy Majhe
Options :

92090627361. 1
92090627362. 2
92090627363. 3
92090627364. 4

Question Number : 41 Question Id : 9209066922 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFifed ® @ &1 T1 Mid =ara 9= s T8l 82

(1) oToft arel &= T (2) UEUS o el
(3) UWAWE Fauy (4) YOI q9 g HIE
Options :

92090627361. 1
92090627362. 2
92090627363. 3
92090627364. 4

Question Number : 42 Question Id : 9209066923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The song "Jwal Jwal chita dwigun dwigun’ is written for:

(1) Drama Vasantotsawa (2) Drama Sarojini
(3) Drama Mukut (4) Drama Bisarjan
Options :

92090627365. 1
92090627366. 2
92090627367. 3
92090627368. 4

Question Number : 42 Question Id : 9209066923 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

“9d w9 fod fgam i feass fore foran man g2

(1) dUdi&d s (2) TR ATeH
(3) YpecAeH @) faueEAars
Options :

92090627365. 1
92090627366. 2
92090627367. 3
92090627368. 4

Question Number : 43 Question Id : 9209066924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who sung the song ‘Purbagagana Bhage’ in the drama ‘Natir Puja’?

(1 Upali (2) Lokeswari
(3) Srimoti (4) Ajita
Options :

92090627369. 1
92090627370. 2
92090627371. 3
92090627372. 4

Question Number : 43 Question Id : 9209066924 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR g&r Ared § gd TH Ul 1id & TS S 82

(1) Jurett (2) ey
(3)  giw (4) Sfforan
Options :

92090627369. 1
92090627370. 2
92090627371. 3
92090627372. 4



Question Number : 44 Question Id : 9209066925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which song is composed in Rag ‘Ananda-bhirabi'?

(1) Ananda Dhara Bohichhe (2) Ananda Loke Mangalaloke
(3) Ananda Tume Swami (4) Eso He Grihga Devota
Options :

92090627373. 1
92090627374. 2
92090627375. 3
92090627376. 4

Question Number : 44 Question Id : 9209066925 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fmifeed 7 @ feg Md 31 7941 eHg IRdl § &1 &rdt 22

(1) 3= URT difge (2) 3= dld Hdddis
(3) S gHi (4) THRE Iad
Options :

92090627373. 1
92090627374. 2
92090627375. 3
92090627376. 4

Question Number : 45 Question Id : 9209066926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which year the drama 'Dakghar’ was published?

(1) 1910 2) 1912
(3) 1914 (4) 1916
Options :

92090627377. 1
92090627378. 2
92090627379. 3
92090627380. 4



Question Number : 45 Question Id : 9209066926 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIHFR S [bH a9 JH1Id g

(Mm 1910 (2) 1912
(3) 1914 (4) 1916
Options :

92090627377. 1
92090627378. 2
92090627379. 3
92090627380. 4

Question Number : 46 Question Id : 9209066927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Book Gitabitan ‘Kalanueromik Suchi’ written by:

(1)  Konika Bandopadhyay (2) Prabhat Kumar Mukhopadhyas
(3) Shantidev Ghosa (4) Rabindra Noth Tagore
Options :

92090627381. 1
92090627382. 2
92090627383. 3
92090627384. 4

Question Number : 46 Question Id : 9209066927 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el SIS FI' J&id [bad gRI Id §?

(1) S dearE™ (2) UMId $HR @AY
3) wifddd oy @) =AY TR
Options :

92090627381. 1
92090627382. 2



92090627383. 3
92090627384. 4

Question Number : 47 Question Id : 9209066928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the Notation Maker of 'Janagana Mana Adhinayaka'?

(1) Rabindra Noth Tagore (2) Shantidev Ghosh
(3) Divendra Noth Tagore (4) Sailajaranjan Maeumder
Options :

92090627385. 1
92090627386. 2
92090627387. 3
92090627388. 4

Question Number : 47 Question Id : 9209066928 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 10 1 AR $1 @RI (@) e @ 22

(1) =AY SR (2) wifadd 9
(3)  EHETY SR (4) ATARG HHIR
Options :

92090627385. 1
92090627386. 2
92090627387. 3
92090627388. 4

Question Number : 48 Question Id : 9209066929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The original melody of the Tagore song “Sakali Furalo Swapan Pray” is taken from:

(1)  Drink to me only (2) Go where glory waits thee
(3) Robin Adair (4) Auld lang Syne
Options :

92090627389. 1



92090627390. 2
92090627391. 3
92090627392. 4

Question Number : 48 Question Id : 9209066929 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR & 1iid “FPToll BRIl WU U Fel 9 Iged b 82

(1) fg® T ot sifet (2) T 399X @RI dey &
(3)  fed rSm 4) 3feg o RA
Options :

92090627389. 1
92090627390. 2
92090627391. 3
92090627392. 4

Question Number : 49 Question Id : 9209066930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The original tune of Tagore song “Yaditor dak sune keu na ase” is taken from:

(1)  Arni kothay pabo tanre (2) Harinam diye jagat matale

(3) Mon majhi samal samal double tori (4) Dekhechhi rupsagare moner manusr

Options :

92090627393. 1
92090627394. 2
92090627395. 3
92090627396. 4

Question Number : 49 Question Id : 9209066930 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gfe R B16 3 B3 71 T A0S TR 11 1 Ay Pel 9 ol TS &2

(1) i pIumg urEl TR (2) BRAW & S7d A
(3)  HIF A 9Hd gHA gaal dil (4) CESFU IR HFR 7MY

Options :



92090627393. 1
92090627394. 2
92090627395. 3
92090627396. 4

Question Number : 50 Question Id : 9209066931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the date of tree plamtation festival (Brikshoropan) at Santiniketan from the
following list:

(1) Twenty fifth baishakh (2) Twenty two shrabon
(3) Bengali new year (4) Bananta panchami
Options :

92090627397. 1
92090627398. 2
92090627399. 3
92090627400. 4

Question Number : 50 Question Id : 9209066931 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofefad 3= 9 @ gifafeaT § gamiuu #eiee $1 fafy Rfed S

(1) a9rE vy (2) YTEUT Sy
(3) &l Agay (4) od daHl
Options :

92090627397. 1
92090627398. 2
92090627399. 3
92090627400. 4

Question Number : 51 Question Id : 9209066932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the mother's name of Sarala Devi:

(1 Gnyananandire devi (2) Barana kumari devi
(3) Swarna kumari devi (4) Kadambari devi
Options :

92090627401. 1
92090627402. 2
92090627403. 3
92090627404. 4

Question Number : 51 Question Id : 9209066932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W <di &1 | &1 A fAffa Fifeu

(1) gl &dt (2) 9ol HER i
(3) %@U HHRI&dl (4) BIEal <t
Options :

92090627401. 1
92090627402. 2
92090627403. 3
92090627404. 4

Question Number : 52 Question Id : 9209066933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who wrote the femus song ‘vande Mataram’ Identify from the following list?

(1) Rabindra Noth tagore (2) Bankim Chandra Chatropadhyay
(3) Sarat Chandra Chatropadhyay (4) Swami Vivekananda
Options :

92090627405. 1
92090627406. 2
92090627407. 3
92090627408. 4

Question Number : 52 Question Id : 9209066933 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Prafefad gt 3 Q 3Ry i & it &1 Rk S

(1) W=y &R (2) dfpHEg ey
(3) YRddg dediE™ (4) @Ml fadsrHg
Options :

92090627405. 1
92090627406. 2
92090627407. 3
92090627408. 4

Question Number : 53 Question Id : 9209066934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is the last song of Tagore's life?

(1)  Oi maha manaba ase (2) Biswa vidya tirtha prangana
(3) He mutan dekha dek ar bar (4) Yadijiban puran nai holo
Options :

92090627409. 1
92090627410. 2
92090627411. 3
92090627412. 4

Question Number : 53 Question Id : 9209066934 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR & Siigq &1 3ifan 7fid &1 91 87

(1) 3 A o (2) oy faem e wivop
(3) &0 E o SR R (4) afe Sfta QR 713 gl
Options :

92090627409. 1
92090627410. 2
92090627411. 3
92090627412. 4



Question Number : 54 Question Id : 9209066935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select one of the following from the drama ‘Sapmochan’ :

(1) Bachha tui je aamar buk chera dhan
(2)  Aamar pram je byakul hoyechhe
(3) Shei shanti bhuban bhaban kotha

(4) Mor veena othe kon sure baje

Options :

92090627413. 1
92090627414. 2
92090627415. 3
92090627416. 4

Question Number : 54 Question Id : 9209066935 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y e ¥ Jattd ared & Fefafaa 79 93

(1) &= {s o HTHR g o 8 (2) SIHR U0 S SATPHd 8RS
(3) A ifd Yo yeq Sl (4) HR N Y HH I T
Options :

92090627413. 1
92090627414. 2
92090627415. 3
92090627416. 4

Question Number : 55 Question Id : 9209066936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select one of the following song which is written by dwijendra Lal Roy :

(1) Aji eshechhi bandhuhe (2) Aji enechhi tomar ashirbad
(3) Sunyo e buke pakhe mor (4) Eka mor gamer tori
Options :

92090627417. 1



92090627418. 2
92090627419. 3
92090627420. 4

Question Number : 55 Question Id : 9209066936 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Profifad 3 @ R o g gr1 Rifda ha 31 9fa

(1) 3ol 3OS d42 2) ol 38! AR Iffarg
(3) OIS gD U AR (4) TSI AR TR AN
Options :

92090627417. 1
92090627418. 2
92090627419. 3
92090627420. 4

Question Number : 56 Question Id : 9209066937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the fullname of Nidhu babu Identify the following list:

(m Prafulla Chandra Gupta (2) Iswar Chandra Gupta
(3)  Ramnidhi Gupta (4) Karuna moy Gupta
Options :

92090627421. 1
92090627422. 2
92090627423. 3
92090627424. 4

Question Number : 56 Question Id : 9209066937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFroafafaa gt 8§ 4 fy o &1 w1 W fBifea i

(1) UPed I% (2) $RIETA
(3) YA I (4) HBUMHY T



Options :

92090627421. 1
92090627422. 2
92090627423. 3
92090627424. 4

Question Number : 57 Question Id : 9209066938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the indroductory song (Bhumikar gaan) of Gitabitan:

(1) Prathama Aalor Charana Shwane
(2)  Prathama Yuger uday Digangane
(3) Prathama Adi Taba Shati

(4) Pratham Phuler Pabo Prasad Khomi

Options :

92090627425. 1
92090627426. 2
92090627427. 3
92090627428. 4

Question Number : 57 Question Id : 9209066938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afaar &1 yfreR T4 faftd Fifen

(1) WY R I07 (2) UYH TR I i
(3) wuH fe ae wfdd (4) WYH PR rel g1 Wl
Options :

92090627425. 1
92090627426. 2
92090627427. 3
92090627428. 4

Question Number : 58 Question Id : 9209066939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the notation Book number of Bhanusinger Padavali?

M B (&) 20
(3) 21 (4) 22
Options :

92090627429. 1
92090627430. 2
92090627431. 3
92090627432. 4

Question Number : 58 Question Id : 9209066939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRR uerae 1 b J&is &1 S 4 82
1y 19 2) 20
3 21 4 22
Options :

92090627429. 1
92090627430. 2
92090627431. 3
92090627432. 4

Question Number : 59 Question Id : 9209066940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the first song of Bangla Gitaniali?

(1)  Tumi je surer agun lagiye
(2) Aamar matha nato kore dao he
(3) Gane gane tabo banhan dao he

(4) Aamar khela jakhan chhilo tomarsane

Options :

92090627433. 1
92090627434. 2
92090627435. 3
92090627436. 4



Question Number : 59 Question Id : 9209066940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aTran iaiefa & uyw g 1 Rt P s

(1) HI S YR SMHE TIfg (2) STHR H1YT e SR G0 8
(3) TATAdEI YA g3 8 (4) AR Gdl S ol THRE-
Options :

92090627433. 1
92090627434. 2
92090627435. 3
92090627436. 4

Question Number : 60 Question Id : 9209066941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the father's name of Divendra noth Tagore?

(1)  Satyenbdra Noth Tagore (2) Jyotirindram Noth Tagore
(3) Divendra Noth Tagore (4) Gunendra Noth Tagore
Options :

92090627437. 1
92090627438. 2
92090627439. 3
92090627440. 4

Question Number : 60 Question Id : 9209066941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Y &R & U o[ 42

(1) =Y IR (2) e A1y &R
(3) e Ay &R (4) 0% Y SR
Options :

92090627437. 1
92090627438. 2
92090627439. 3



92090627440. 4

Question Number : 61 Question Id : 9209066942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the song with the help of this notation:
NSG/RS-/NSR/SN-/
DMN/NN-/DP-/M--/

(D Aandharo ambare prechanda dambaru
(2) Aadheko ghume nayan chume

(3) Andhar rate akla pagol

(4) andhar sakha ujjal kori

Options :

92090627441. 1
92090627442. 2
92090627443. 3
92090627444. 4

Question Number : 61 Question Id : 9209066942 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=9 3B P Gergal ¥ 1fid &1 yg=n=a
fmm/xw-/A@my/@MA-/
gAtt A g - gy A--y

(1) iR 3Rk yds &% 2) 3NESHgH T g0
(3) 3R I 3 W (4) 3R @l I=d B
Options :

92090627441. 1
92090627442. 2
92090627443. 3
92090627444. 4

Question Number : 62 Question Id : 9209066943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Identify the song which is used 'Silpotsav’ at santiniketan:

(1)  Maru bijayer ketan udao (2) Nrityero tale tale

(3) Namo momo momo karuna ghona (4) MNamo jantro namo jantro

Options :

92090627445. 1
92090627446. 2
92090627447. 3
92090627448. 4

Question Number : 62 Question Id : 9209066943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SiifafHdaa & uge fid @19 91 87

(1)  #% [4oR $a4 3819 (2) T dd dd

(3)  H! FH 74 HHon 9 (4)  H SFRI FH SRl
Options :

92090627445. 1
92090627446. 2
92090627447. 3
92090627448. 4

Question Number : 63 Question Id : 9209066944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the song which was written for drama "Sarojini":

(1) Tanhare arati kare chandra tapan
(2)  Jwal jwal chita dwigun dwigun
(3)  Sarajiban dilo alo surya graha chand

(4)  Agne bina bajao tumi kemon kore

Options :

92090627449. 1
92090627450. 2
92090627451. 3



92090627452. 4

Question Number : 63 Question Id : 9209066944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WA Aed $ fau fere 1 id @1 faftd Fifsc:

(1) O R &Y dg dud (2) wdrd wdrd frd fgaon fgaqon
(3) ORI dial sirell g g 9% (4)  3if% o= aresh gt B

Options :

92090627449. 1
92090627450. 2
92090627451. 3
92090627452. 4

Question Number : 64 Question Id : 9209066945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the original song of ‘Baje karumo sure”:

(1) Brindabana lola (2) Nitu charana mule
(3) Minakshi me mudorm (4) Purna Chandranane
Options :

92090627453. 1
92090627454. 2
92090627455. 3
92090627456. 4

Question Number : 64 Question Id : 9209066945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e HIU P & Hd fid o fafga i

(1) seEdda (2) HAig=Ruga
(3)  HiFel ® ey @) qoi g
Options :

92090627453. 1



92090627454. 2
92090627455. 3
92090627456. 4

Question Number : 65 Question Id : 9209066946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who wrote the book ‘Rabindra Sangiter Triveni Sangam’ identify from the following list?

(1) Indira debi chowdhurani (2) Shantider Ghosa
(3) Sailaja ranjan Mazumdar (4) Rabindra Nath Tagore
Options :

92090627457. 1
92090627458. 2
92090627459. 3
92090627460. 4

Question Number : 65 Question Id : 9209066946 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ProfifRd ot & & ~di SR Bath @ qww & das & gha

(1) Sfer & SR 2) wifaea 9y
3) S o AeHeR @) Ve 1Y SR
Options :

92090627457. 1
92090627458. 2
92090627459. 3
92090627460. 4

Question Number : 66 Question Id : 9209066947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled

as Reason (R).

Assertion (A):  ‘Chhinnapatra’ by Rabindra noth is a gem in Bengali literalure for its

literary values.

Reasons (R) : Rabindra Nath letter's used to be full of intertual and poetie talks.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

4) (A) is false but (R) is true

Options :

92090627461. 1
92090627462. 2
92090627463. 3
92090627464. 4

Question Number : 66 Question Id : 9209066947 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a8l YA AU U § U AHUSYA (Assertion A) F ®U  H fifd g A 90 IS HRU
(Reason R}a‘TF'-T ﬁ;

AHYFYT A : g 1Y gRI I Tsaua 3 wifefde Agd & RO 7l 9ifigd &1
el

HRUR : T 1Y & UF difgd SR HIeaed aral 3 afegef g1 3
IR HY F 3fdld |, A1 13U T fab el 7 § a8 Iugad I &1 99 Hiforw

(1)  ASRRIATTEIE 3IRR, AP Ual AR &

2 ASIRREH Ul g, Al R, A DI TSI A 81 @
(3) AHEE, AfhT RS TETE

(4) AWETEIE ABTRUEE

Options :

92090627461. 1
92090627462. 2
92090627463. 3
92090627464. 4

Question Number : 67 Question Id : 9209066948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A): Tagore's dance drama chitrangada shows two forms of chitrangad -
surupa and kurupa showing two characteristics of women.

Reasons (R) : Tagore belived that — women should neither be prelly dol only nor a

dependent — on men, rather companionship is her froue pleaee and
identify.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

92090627465. 1
92090627466. 2
92090627467. 3
92090627468. 4

Question Number : 67 Question Id : 9209066948 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

411 € $yF QU U § U@ SHHBYA (Assertion A) B ¥ H fiRad @ o g¥R1 39D BRUI
(Reason R]%Fcr ﬁf;

HYBYT A : SR & I e EFTel § REE & 4 M- 3R &4 § Aigari
AR F <1 ifrenefore o B g I 3l

HRUIR : SR &1 AT o1 b Afgensil &1 Y3 gfcars a1 gl | siféd 8 &t gurg
TEH| @1 T g1 =igT | T8l 9T Hel RIF SR 3u®! ST |

IR $YF & 3Meiid H, i iU 1 fasedi § 9 998 Iuge IR &1 994 Sifo
(1) A3RREA Fel § AR R, A DI TEI ARS &
2) ASIRREHA T8l g, dftbd R A B el AT T8l &

(3) AGSE ABARUE RIS
(4) AUEAEIE AfPARTE



Options :

92090627465. 1
92090627466. 2
92090627467. 3
92090627468. 4

Question Number : 68 Question Id : 9209066949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled
as Reason (R).

Assertion (A): Tagore articulated the relevance of freedom and cheerfulness of
childrens mind through some of his dramas like sarodotsav, Achalayatam
Dakghar etc.

Reasons (R) : In his memories Tagore mentioned about the dominance and restricted
environments of the servants looking of his the childrans of jorasonk
thakur bari

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R} are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

Options :

92090627469. 1
92090627470. 2
92090627471. 3
92090627472. 4

Question Number : 68 Question Id : 9209066949 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i <1 FYA U MU § T SfHBHYA (Assertion A) F FU H foRad & o @RI 39S HRUI
{Reason Rﬁqm ﬁ;

AMMFHYTA © TR IRGIHd, SEaUdH SPWR A o AlcH] & HiEH I
dradi/aiadrsi & AT & Wil iR 396! UHAdT &1 UG &1 Jeord
e

HRUIR ; 3O HERU § SR A GRS 319 Rl & = D g@UTd HIF did
Yool &1 wYd MR ufaeiia uRaw &1 e faa

JURIR HY & 3fdid |, A AU T fab el 7 I a8 Iuga I 1 99 Difelt

(1) A SRRGH TSl € IR R, A P! TSI AR &

(2) A SIRRIHI TG, AH R, A I TET RS T8 &
3) AGHE AFTRIS T

(4) AYETEIE, AfbTR TS ©

Options :

92090627469. 1
92090627470. 2
92090627471. 3
92090627472. 4

Question Number : 69 Question Id : 9209066950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the chronologically the order of the following swarabitan:

(A) Ketaki

(B)  Gitabithika
(C) Phalguni
(D) Tapati

Choose the correct answer from the options given below :

(1) A B CD

(2) CABD

(3) B.A D C

(4) D, B CA
Options :

92090627473. 1
92090627474. 2



92090627475. 3
92090627476. 4

Question Number : 69 Question Id : 9209066950 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad wRfaam &1 srarsd ¥ saaiyd Sif;

(A) Dbl

8)  iadiidesr

() WIEH

(D)  drgdt

1 fau 7 fashedi & @ gt SR &1 994 Sifw:
(1) ABCD

(20 CABD

(3) B,ADC

4 D,B,CA

Options :

92090627473. 1
92090627474. 2
92090627475. 3
92090627476. 4

Question Number : 70 Question Id : 9209066951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following chronologically according to Gitabiton:

(A) Bandhu

(B) Sadhana-o-samkalpa
Q) Praethana

(D) Gaan

(E) Biraha

Choose the correct answer from the options given below :

(1) B,DAEC
20 D,ACEB
3) CEDAB
4 ED,CBA

Options :

92090627477. 1
92090627478. 2
92090627479. 3
92090627480. 4

Question Number : 70 Question Id : 9209066951 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
idfad™ & FER Fafafed & Srarsd # sgaftud sife

GV L

(B)  HIYAT-3fI-Hhed
(€

(D) RG]

£ forE

14 fau e fas el # ¥ 98t I’ &1 994 BT
(1) B, D, AEC
(2) DACESB
(3) CEDAB
(4) EDCBA

Options :
92090627477. 1



92090627478. 2
92090627479. 3
92090627480. 4

Question Number : 71 Question Id : 9209066952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange chronologically (seniour to junior)

(A) Somendranoth Tagore
(B) Jyotirindranoth Tagore
(©) Hemendranoth Tagore

(D) Salyendranoth Tagore

Choose the correct answer from the options given below :

(1) ABCD

(2) BCAD

(3) CD.BA

4 DCBA
Options :

92090627481. 1
92090627482. 2
92090627483. 3
92090627484. 4

Question Number : 71 Question Id : 9209066952 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafeiiad &) STasd § @RS 9 1Y) gaiud i

(A)  Hifw Y SR

®)  Sifad=s TR

(C) &A% Y eIR

(D) A=A SR

1 fau U fasedt # 9 gl IR &1 99 S
(1) AB,CD

(2) BCAD

3) CD,BA

4 D,CBA
Options :

92090627481. 1
92090627482. 2
92090627483. 3
92090627484. 4

Question Number : 72 Question Id : 9209066953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange chronologically according to seinor to junior:

(A) Dwijendranoth Tagore
(B) Divendranoth Tagore

(C) Deben dra noth Tagore
(D) Dwipendranoth Tagore

Choose the correct answer from the options given below :

(M CADB

(2) ABCD

(3) B.C.D.A

(4) A DCB
Options :

92090627485. 1
92090627486. 2
92090627487. 3
92090627488. 4



Question Number : 72 Question Id : 9209066953 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiad @1 aRy ¥ S8 & &0 § SIaHHMER AdRyd $ifod

(A)  fEois Ty AR

B) f&A= TR

(€) &€= A1Y IR

(D) el MY R

A9 fw U fasweul # 9 9l IR &1 984 B
(1) CADB

(2) ABCD

3) B,CDA

4 ADCB

Options :

92090627485. 1
92090627486. 2
92090627487. 3
92090627488. 4

Question Number : 73 Question Id : 9209066954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange chronologically:
(A)  Kalrnrigaya
(B) Valmiki prativa
() Bisarjan
(D) Rajarsee

Choose the correct answer from the options given below :

(1) ABCD
2) B,AD,C
(3) CDAB

(4) D ACB



Options :

92090627489. 1
92090627490. 2
92090627491. 3
92090627492. 4

Question Number : 73 Question Id : 9209066954 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIAHHATHR TaRYd DifoIE:
(A) IR
(B)  dreHife ufdan
© foueE
(D) eIy
i feu v fawedi § 9§ 9l It &1 994 DI
(1) ABCD
(2) B,ADC
(3) CDAB
4 D,ACB
Options :

92090627489. 1
92090627490. 2
92090627491. 3
92090627492. 4

Question Number : 74 Question Id : 9209066955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following chronologically:
(A) Taser desh

(B) Chitrangada

() Shrabon gotha

(D) Saomo chan

Choose the correct answer from the options given below :

(1) A BCD
(2) CBAD
(3) D,ACB
(40 BADC
Options :

92090627493. 1
92090627494. 2
92090627495. 3
92090627496. 4

Question Number : 74 Question Id : 9209066955 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafifEd &) SrasHITUR sFafd Hifo
(A) dRR ¢
(8) AT
(C)  YEOT Il
(D) SO
1 fau 7 fasedi # 4 gl SR &1 994 ST
(1) ABCD
2) CBAD
(3) D.,ACB
4) B,ADC
Options :

92090627493. 1
92090627494. 2
92090627495. 3
92090627496. 4



Question Number : 75 Question Id : 9209066956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange chronologically according year of publication:
(A) Mayar Khela
(B) Prabhat Sangit
(C) Sandiya Sangit
(D) Bhanu Singher Padavali

Choose the correct answer from the options given below :

(1) A B CD

(2) B.C.D A

(3) C.B.D A

(4) D,CAB
Options :

92090627497. 1
92090627498. 2
92090627499. 3
92090627500. 4

Question Number : 75 Question Id : 9209066956 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YHTIH I Bl SR BIADHH H TaRYd Difoid:

(A) TOR Wdl

(B) UMR Hifid

(C) =T giitd

(D) M ReR uaTadl

19 feu e fashedl # € el IR &1 U ST
(1) ABCD

(20 BCDA

(3) CBDA

(4 D,CAB
Options :

92090627497. 1
92090627498. 2
92090627499. 3
92090627500. 4

Question Number : 76 Question Id : 9209066957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange sequencially maccording to seasion:

(A)  Himer rate oi gaganer

(B) Eso shyamal sunder

(C)  Ore bhai phagun legechhe
(D) Darun agni banere

(E) sarat to mar arun alor

Choose the correct answer from the options given below :

(1) A BCDE

(2) D BEAC

(3) B,D,C.EA

4) C.AEBD
Options :

92090627501. 1
92090627502. 2



92090627503. 3
92090627504. 4

Question Number : 76 Question Id : 9209066957 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hd & TR BIEAFHH H HaFYd DifoIg:
(A)  BIR U sig W

(B) Ul WHA Y}

(C) 3R UIS BRH Tl

(D) GRA AT

() YRddl °HR 3B HTER

19 fau U fasedl # 9 9el IR &1 994 i
(1) ABCDE
(2) D,BEAC
(3) B.D.C. E A
(4) C,AE B D

Options :

92090627501. 1
92090627502. 2
92090627503. 3
92090627504. 4

Question Number : 77 Question Id : 9209066958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange sequentially according (in casing order)

(A) Chawtal

(B) Shasthi

(C) Dipchandi
(D)  Ardha jhaptal
(E) Ekadashi

Choose the correct answer from the options given below :

(1) D, B EAC
(2) C.D AEB
(3) B.E C,DA
(4) ABCDE

Options :

92090627505. 1
92090627506. 2
92090627507. 3
92090627508. 4

Question Number : 77 Question Id : 9209066958 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafifad & STaaR $Rig! H I sgafeyd difore

(A) =

(B) wHl

(€  dlu=dl

(D) 3 AU
(E)  Uhaxil

413 fRu U fasweul # ¥ 9l IR $1 904 ST
(1) D BEAC
(20 CD,AEB
(3) B.E.C.D A
(4) ABCDE

Options :
92090627505. 1



92090627506. 2
92090627507. 3
92090627508. 4

Question Number : 78 Question Id : 9209066959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . Raktakarabi is eonsidired to be one of the best plays of Tagore

Statement Il :  Raktakarabi translated in to english by the author him self with the

name of red oleamders.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement | is false

(4) Statement | is false but Statement Il is true

Options :

92090627509. 1
92090627510. 2
92090627511. 3
92090627512. 4

Question Number : 78 Question Id : 9209066959 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T3 @ Yy UM B
HYFT| ;. GAHAE AR & Fdiap P ATCd] § I Th qH] o1l ¢ |

HY N : %ﬁmﬁ&ﬁaﬁ@mmmmmwaﬂm$wﬁﬁmw
|

JIRITd HYH & aid H, A1 S0 70 [deedi # | gl 3! 994 Do

(1) FYHIHRNISHI TIE

(2) YA RIS HI E

(3) DY FA g, Alfh YA Il A B
4) YA T g, Alch HYA 1 T &

Options :

92090627509. 1
92090627510. 2
92090627511. 3
92090627512. 4

Question Number : 79 Question Id : 9209066960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Rebindranoth was very particular about his songs and took initiative
in notation making of most of his song.
Statement Il :  He was confident that his songs would live long in the heart of

country men.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement 1l is false

(4) Statement | is false but Statement Il is true

Options :

92090627513. 1
92090627514. 2
92090627515. 3



92090627516. 4

Question Number : 79 Question Id : 9209066960 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RaFyRumUE:
®YT| ;. Wy oA Tidl F 9R T 9gd dollal (&deeiie) 4 3R IEH U it
il Bt TaRfaf Fmi &3 &1 ugd &1
HUY I ; Emﬁﬁwwwﬂﬁwmmﬁ?mﬁmw
|

IR HYF & 3l |, 19 15U 10 fdeadl 1§ 9 9gl Iuia 994 Sifeie

(1) HYTI RIS T &

(2)  HYA | SR I ESHI T &

(3) HYTIFA g, Wl HYF 1l A B
(4) YA | TG g, Al HuA || T &

Options :

92090627513. 1
92090627514. 2
92090627515. 3
92090627516. 4

Question Number : 80 Question Id : 9209066961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | . 'jiban smriti’ of Rabindranoth has no reference of nobal prize winning.

Statement |l . jiban smriti was published in 1912.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement Il are true
(2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

92090627517. 1
92090627518. 2
92090627519. 3
92090627520. 4

Question Number : 80 Question Id : 9209066961 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fa g sy Ru MU &

HYA| ;WA B Slidefd # Tied RESR A G g9 & $is oo’ gl g
®UYF I :  ofig Wid 99 1912 H y1iRd g3 41

SWRITd HYA & 3MTciiep |, T QU Y [dvedl 7 § Wet IwRd1 9a Difvg

(1) @Y RIS Id &

(2) YT SRS A E

(3) @Y1 T g, dlhd HYA 1| 3 8
(4) DY MUY B, AP HYT 11 T B

Options :
92090627517. 1



92090627518. 2
92090627519. 3
92090627520. 4

Question Number : 81 Question Id : 9209066962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Tagore became almost world traveller after 1930.

Statement Il : Rabindranoth was Asians first noval prize winner, so whole worls

started wanting him for a visit in their lands.

In the light of the above statements, choose the correct answer from the options given

below :

(M Both Statement | and Statement Il are true
(2) Both Statement | and Statement |l are false
(3) Statement | is true but Statement |l is false

(4) Statement | is false but Statement Il is true

Options :

92090627521. 1
92090627522. 2
92090627523. 3
92090627524. 4

Question Number : 81 Question Id : 9209066962 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRIFERume:
Y| ;- dY 1930 F 918 TR UTD: fay g (@Y gdes) 79 1)

DY Il TdiATY TR HETeid & HuH Aidd YRIBR [doldl 3, 3afe g fay & oril &
791 41 {6 9 396 ST ST AT H|

JIUIad HYA & 3faid |, [ S0 710 [deedi & | gl Iavd! 994 Hiivig

(1) SYFIARNSH TI &

(2) YA SR | AT A &

(3) YT A, Al HYF 1| 3T 8
(4)  HYF| T B, Afb HYF 11 T B

Options :

92090627521. 1
92090627522. 2
92090627523. 3
92090627524. 4

Question Number : 82 Question Id : 9209066963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eso eso basanta dhartale oeeur in.......

(A) Moyar Khela
(B) Shyoma

(C) Basanta

(D) Chitrangade
(E) Swarabitan 16

Choose the correct answer from the options given below :

(1) A & D only
(2) B & C only
(3) C & D only
(4) A & Conly
Options :
92090627525. 1
92090627526. 2

92090627527. 3
92090627528. 4



Question Number : 82 Question Id : 9209066963 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o T S3d YRad Ryifea A A fea H g
(A)  HOR 9dl
(B) I
(C) &Hd
(o) FeERTET
() EOEIdH 16
At fau e fasedi # @ el IR &1 994 Siford :
(1) &ad A 3RD
(2) &ad B3R C
(3) ®ad C3RD
(4) Hdd AR C
Options :

92090627525. 1
92090627526. 2
92090627527. 3
92090627528. 4

Question Number : 83 Question Id : 9209066964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify two characters from '‘Dakghar’

(A) Ulliya
(B) Sudha
(C) Biskpagal
(D) Kumar
(E) Aamal

Choose the correct answer from the options given below :

(1) A & B only
(2) B & E only
(3) C & D only
(4) D & E only

Options :

92090627529. 1
92090627530. 2
92090627531. 3
92090627532. 4

Question Number : 83 Question Id : 9209066964 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIHH & ol Ul 3 gifdd a3
(A) I
(B) T
€ fegurm
(D) PHR
(E)  3Hd
A1 fau e fasedi # ¥ 98l IR &1 994 Hifee -
(1) dd A3RB
2) &ad BAHRE
(3) ®ad C3RD
(4) &dd DIARE
Options :

92090627529. 1
92090627530. 2



92090627531. 3
92090627532. 4

Question Number : 84 Question Id : 9209066965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Henabina He nobina oeeurs in......
(A) Swarabitan 22
(B)  Swarabitan 12
(C) Tal-Teora
(D)  Category-prem
(E) Swarabitan 01

Choose the correct answer from the options given below :

(1 ABC
(2) B C.D
(3) BDE
(4 CDE
Options :

92090627533. 1
92090627534. 2
92090627535. 3
92090627536. 4

Question Number : 84 Question Id : 9209066965 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 T ifarTn forad e &

(A) TEREAH 22
(B) TG 12
(C) oI dadr
(D) ot UH
()  TadlaH 1
= fau U fasredt 7 9 HEl IR 61 984 Fifo -
(1) dd A, B,C
(2) @&dd B,C,D
(3) @dd B,D,E
(4) @&dd C,D,E
Options :

92090627533. 1
92090627534. 2
92090627535. 3
92090627536. 4

Question Number : 85 Question Id : 9209066966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the following songs are used in drama Bisarjan:

(A) Kali kali babo re aaj

(B)  Ulangini nache ranarange

(C) Shyama ebar chhere chalechhima
(D) Aamare kenibi bhai

(E) Thakte aar parinema

Choose the correct answer from the options given below :

(1) A, B, C only
(2) B, C, D only
(3) B, D, E only

(4) D, C, A only
Options :
92090627537. 1
92090627538. 2



92090627539. 3
92090627540. 4

Question Number : 85 Question Id : 9209066966 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fasei Ares 7 uged it 1Midl &1 Rgifed S
(A)  <hIcH DIl JTd ¥ 3T

(B) Q&R A/ IARN

(€) ™I TR B FaiHI

(D)  3{TFR BT U5

(E)  YTdd 3R gRofier

i fau e fasredl # ¥ WEl IR BT 98 HifoL

(1) dd A B,C

(2) @&dd B,C,D

(3) @dd B,D,E

4) &dd D,C A
Options :

92090627537. 1
92090627538. 2
92090627539. 3
92090627540. 4

Question Number : 86 Question Id : 9209066967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify two total of same beats:

(A) Teora

(B) Jhampak

(O Ardhajhaptal
(D) Rupak

(E) Rupakra

Choose the correct answer from the options given below :

(1) A & B only
(2) A&Donly
(3) B & C only
(4) C & D only

Options :

92090627541. 1
92090627542. 2
92090627543. 3
92090627544. 4

Question Number : 86 Question Id : 9209066967 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THUAH fd8e ard o did &1 UgdH Sifeg;
(A)  da
(B) =HP
(C) 3% FAUard
(D) TUH
() EUH
12 fau U fawedl # 9 el SwR &1 994 Sifg
(1) Hdd A3IRB
(2) Had A3IRB
(3) &ad B3R C
(4) @dd C3MRD
Options :

92090627541. 1



92090627542. 2
92090627543. 3
92090627544. 4

Question Number : 87 Question Id : 9209066968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify two drama which was written by jyotirindranoth tagore:

(A) Krishna Kumari
(B) Puru Bikram
(O Rudra Chanda
(D) Sarojini

Choose the correct answer from the options given below :

(1) A & B only
(2) B & C only
(3) C & D only
(4) B&Donly

Options :

92090627545. 1
92090627546. 2
92090627547. 3
92090627548. 4

Question Number : 87 Question Id : 9209066968 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IRISATY SR I &l A1ed| &1 giidd Hiferg

(A FUGAR
B) Y% fapH
(@ Prd<g
(D) TS
Hra fdu U fasheui ¥ ¥ | IR &1 I0 B ;
(1) &dd A3RB
(2) &ad B3ARC
3) &dd C3AR D
(4) Had BARD
Options :

92090627545. 1
92090627546. 2
92090627547. 3
92090627548. 4

Question Number : 88 Question Id : 9209066969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The book "Hindu Sangit’ written by:

(A) Indira debi Chawdhurani
(B) Shanti deb Ghosh

Q) Pramatha Chowdhury
(D) Rabindranoth Tagore

Choose the correct answer from the options given below :

(1) A & C only
(2) B & C only
(3) C & D only
(4) D & A only
Options :
92090627549. 1
92090627550. 2

92090627551. 3
92090627552. 4



Question Number : 88 Question Id : 9209066969 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feg Tiit o~ & Fma s 8

(A) SR Sdl IreRE

(8)  Wifded Uy

(€  UyH T

(D) &Sy TR

i fau 7T fasedi ¥ | 981 IR &1 984 Hifee

(1) &dd ASIRC

(2) &ad B3R C

(3) &dd C3IR D

(4) Hdd D AR A
Options :

92090627549. 1
92090627550. 2
92090627551. 3
92090627552. 4

Question Number : 89 Question Id : 9209066970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chokh je oder chute chale go occurs in........

(A)  Swara bitan 42

(B) Category Swadesh
(C)  Rag Kharmbai

(D) Kheyal Style

(E) Tal Dadra

Choose the correct answer from the options given below :

{1) A, B, C only
(2) C, B, D only
(3) A, C E only
(4) D, E, A only

Options :

92090627553. 1
92090627554. 2
92090627555. 3
92090627556. 4

Question Number : 89 Question Id : 9209066970 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ofieX @ @ 7 Frmifeea & & e ot

(A) WX ddH 42

(B)  AUR-¥EReH

(© MEEg

(D) e gl

(E)  dlel gIcXd

= f3u e faeeal § 9 9el IR &1 98 ST ;
(1) @&dd A B, C

(2) @dd C B,D

(3) @dd A CE

(4) &dd D,EA

Options :



92090627553. 1
92090627554. 2
92090627555. 3
92090627556. 4

Question Number : 90 Question Id : 9209066971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify two songs from drama phalguni:

(A) O go tomra sabai bhalo

(B) tomay natium kore pabo bole

() Namo namo namo karuna ghana

(D) Ebar to joubaner kachhe maribonna har

(E)  Tor bhitare jagiya ke

Choose the correct answer from the options given below :

(1) A & B only
(2) B & D only
(3) C & E only
(4) D & E only

Options :

92090627557. 1
92090627558. 2
92090627559. 3
92090627560. 4

Question Number : 90 Question Id : 9209066971 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B! Ale® & &1 Ml 1 fgifed sifen
(A) SN R HEg HTell

(B) A g SR Urdl did

(C)  THI HI AH HF0 GT

(D) TR dl Siie-R &ad JaH e

() dRYIR G $

2 fau v fasedi & 9 9l IR &1 954 Pifeie

(1) &dd A, B

(2) &dd B, D

(3) @&dd CE

(4) &dd D, E
Options :

92090627557. 1
92090627558. 2
92090627559. 3
92090627560. 4

Question Number : 91 Question Id : 9209066972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List I

(A) Haidi brindabone bas (I)  Ram Prasad son

(B) Oma kemon kore parer (ll) Rabindranoth Tagore
ghare

(C) Chaina mago raja hote (Ill) Dasharathi Roy

(D) Qi bhuban mono mohini (IV) Girisha Chandra ghosa

Choose the correct answer from the options given below:

(1) A=), (B)-(1), (©)-(), (D)-(IV)
(2)  (A)-(), (B)-(IV), (C)-(1). (D)-(I1)
(3) (A0, (B)-(lI, (©)-(V), (D)-(1)
(4)  (A)-(V), (B)-(1), (©)-(), (D)-(1)

Options :



92090627561. 1
92090627562 2
92090627563. 3
92090627564. 4

Question Number : 91 Question Id : 9209066972 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A | &y 1 @ e St

- = -

() e gare 9 () ITHUEIG EF
(B) SHIHI HHA P TN W ) T 2R
(C) = HAFN IS B () SIRG ™
(D) M3 Y& T Hifg-it (v) e dg Oy
4 fau v fdssedi @ O 9gt 3O &1 904 BT

(1) (A)-(1), (B)-(1), (C)-(1), (D)-(IV)

(2) (A)-(111), (B)-(IV), (C)-(1), (D)-(11)

(3) (A)-(11), (B)-(11), (C)-(IV), (D)-(1)

(4) (A)-(IV), (B)-(I1), (C)-(11), (D)-(1)

Options :

92090627561. 1
92090627562. 2
92090627563. 3
92090627564. 4

Question Number : 92 Question Id : 9209066973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 1l :

List | List Il
(A) Prakhar tapan tape (I'  Barsha (Rain)
(B) Eso shyamal sundara () Basanta (Spring)
(C) Aalor amal kamal khani () Grishma (Summer)
(D) Ora okarane chanchal (IV} Sarat (Aulom)

Choose the correct answer from the options given below:

(1 (A=) (B)-(1), (C)-(1), (D)-(IV)
(2) (A=), (B)-(1), (C)-(IV), (D)-(II)
(3)  (A-0V). (B)-(11), (C)-(1), (D)-(I)
(4) (A=), (B)-(IV), (O)-(1), (D)-(IlT)

Options :

92090627565. 1
92090627566. 2
92090627567. 3
92090627568. 4

Question Number : 92 Question Id : 9209066973 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & Ty = 11 B AeE B

-1 gt -
(A) UEdR a9 du () auf
(8) U OHA X () <Ed
(C) SR 3 HHSA WAl (ny Ty
(D) 3R PR ddd (V) IRg

i fau TTu fasedi # | 9l IR &1 994 Difor:

(1 (A=), (B)-(1), (O)-(1), (D)-(IV)
(2)  (A)-(), (B)-(1), (C)-(IV), (D)-(IN)
(3)  (A)-(V), (B)-(l1), (C)-(11), (D)-(1)
(4) (A=), (B)-(IV), (C)-(1), (D)-(1)

Options :
92090627565. 1



92090627566. 2
92090627567. 3
92090627568. 4

Question Number : 93 Question Id : 9209066974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il

(A) Bishnu Narayam Bhat (I) Rabindranoth Tagore
khande

(B) Mami Gopal Bando (II) Jiban Smriti
padhyaes

(C) Shambhu Moth Ghosa (1) Sangit darshika

(D) Rabindranoth Tagore (IV) Kromik Pustak Malika

Choose the correct answer from the options given below:

(1 (A-), B)-(V), (O)-(), (D)-(N)

(2)  (A)-(), (B)-(), (C)-(1), (D)-(IV)

(3)  (A)-(V), (B)-(), (C)-(1), (D)-(In)

(4) (A=), (B)-(1n), (O)-(1V), (D)-(1)
Options :

92090627569. 1
92090627570. 2
92090627571. 3
92090627572. 4

Question Number : 93 Question Id : 9209066974 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 1 & a1y g 11 B AeE B

- gt -
() few] ARE YidEvs () e GIoR UHERR
(B) Il TITdTeT sefaeary () it Ffd
(C) YAy O () Hifid i
(D) V&A1Y IR (V) Bt Qe Hiferdl
12 fau e faereui & 9 HEl IR &1 984 Bifee:
(1) (A)-(1), (B)-(IV), (C)-(11), (D)-(111)

)-(
(2) (A0, (B)-(I). (C)-(1), (D)-(IV)
(3)  (A)-(1V), (B)-(1), (C)-(1), (D)-(1)
4 (A=), (B)-), (Q)-(V), (D)-0)

Options :

92090627569. 1
92090627570. 2
92090627571. 3
92090627572. 4

Question Number : 94 Question Id : 9209066975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List | with List Il :

List | List Il
(A) Teora ()  Sudhasagar fire he
(B) Jhaptal ()  Pratham Aaditaba sakti
(C) Surphaktal (1) Agni bina bajao tumi
(D) Dhamar (IV) Pratidin Aami he jiban swami

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(IV), (Q)-(11), (D)-(1)

2 (A)-0), B)-(1, (©)-(m), (D)-(V)

(3)  (A)-(n), (B)-(l), (C)-(1V). (D)-(I)

4)  (A)-(V), (B)-(1), (C)-(I1), (D)-(ln)
Options :

92090627573. 1



92090627574. 2
92090627575. 3
92090627576. 4

Question Number : 94 Question Id : 9209066975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It | & |y gl 1 @1 e Fifor

- gt -l
(A) T () YEIARARE
(B) HUdId () UYH S d9 2fed
(€) YIhd drd iy 3iff fae awren gt
(D) ¥HR (v) ufafes smii g sita= @i

2 fau v fasedi & 9 9l IR &1 994 DI

(1) (A)-(I), (B)-(IV), (C)-(11), (D)-(1)
(2) (A=), (B)-(IN, (C)-(l), (D)-(IV)
(3)  (A)-(), (B)-(), (C)-(IV), (D)-(1)
(4)  (A)-(V), (B)-(1), (O)-(), (D)-(1)

Options :

92090627573. 1
92090627574. 2
92090627575. 3
92090627576. 4

Question Number : 95 Question Id : 9209066976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il :

List | List Il
(A) Tumigao tumi gac go [)  Rajomi kantho sem
(B) Arijali Laho mor sangite
(C) Sukher katha bolo na aar

(D) Keno bonchito habo
charane

ll) Dwijendra lal Roy

II) Kazi nazrul Islam

(
(
(
(

IV) Atual prasad sem

Choose the correct answer from the options given below:

(1) (A=), (B)-(1), (©)-(1), (D)-(IV)
(2)  (A)-(IV), (B)-(llT), (C)-(IN). (D)-(1)
(3) (A=), (B)-(1), (O)-(IV). (D)-(llN)
(4)  (A)-(), (B)-(IV), (C)-(. (D)-(IN)

Options :

92090627577. 1
92090627578. 2
92090627579. 3
92090627580. 4

Question Number : 95 Question Id : 9209066976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | & A g 11 B e i

Tl T -
(A)  JHT TS gt I M () ToHrDid 4
(B) SicTell @el AR T my o= @@
(€) HER Yl AT AR (1) TSl Toed SHITH
(D) & sl gTal TRl (Iv) S3idd udre 34

412 feu v fasredi # 9 9l I &1 99 DI

(10 (A, B)-(1, (C)-(), (D)-(IV)
(2) (A=), (B)-(), (-, (D)-()
(3) (A, (B)-(I), (O)-(IV), (D)-(IlN)
(4) (A=), (B)-(V), (Q-(1). (D)-(1)



Options :

92090627577. 1
92090627578. 2
92090627579. 3
92090627580. 4

Question Number : 96 Question Id : 9209066977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il :

List | List Il
(A) 1882 () Gitanjali
(B) 1881 (I) Basanta
(C) 1910 () Kalmrigaya
(D) 1923 (IV) Balmiki pratibha

Choose the correct answer from the options given below:

(1) (A0, (B)-(I), (C)-(1), (D)-(1V)

(2)  (A)-(), (B)-(lIL), (C)-(1V), (D)-(1)

(3)  (A)-(V), (B)-(1), (O)-(n), (D)-(1N)

4) (A=, (B)-(IV), (O)-(1), (D)-(11)
Options :

92090627581. 1
92090627582. 2
92090627583. 3
92090627584. 4

Question Number : 96 Question Id : 9209066977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| & 9y gt 1 &1 e Fifor

- -l
(A) 1882 () Tidistfer
(B) 1881 Iy «9d
(€ 1910 (1) BT
(D) 1923 (V) ETeifes ufaur

42 feu e fasedi @ | 9l IR &1 9T DI

(1) (A-0) B)-(1, (C)-(), (D)-(IV)
(2) (A1), (B)-(l), (C)-(IV). (D)-(D)
(3)  (A)-(1V), (B)-(1), (C)-(I), (D)-(1)
(4) (A0, (B)-(IV), (©)-(1), (D)-(1D)

Options :

92090627581. 1
92090627582. 2
92090627583. 3
92090627584. 4

Question Number : 97 Question Id : 9209066978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il :

List | List Il
(A) Swarbitan 12 ()  Balmiki Prativa
(B) Swarbitan 21 (Il  Chamdalika
(C) Swarbitan 49 () Taser desh
(D) Swarbitan 18 (IV) Bhamusingher padavali

Choose the correct answer from the options given below:

(1) A=) B)-(1), (C)-(), (D)-(IV)
(2) (A=), (B)-(IV), (O)-(1). (D)-(IN)
(3) (A=), (B)-(), (C)-(1V), (D)-()
(4)  (A)-(V), (B)-(1), (C)-(In), (D)-(1)

Options :



92090627585. 1
92090627586. 2
92090627587. 3
92090627588. 4

Question Number : 97 Question Id : 9209066978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & a1y gl 1| &1 e Fifor

-1 gl I
(A) TR fadaE 12 ()  SrcHlp UidH
(8) ¥R fadM 21 (y derfernt
(€ %R fEaH 49 () dRR ™
(D) WRfgaH 18 (Iv) HIRigT uaTdedl
19 fau v fawedi ¥ 9 9E1 IR &1 994 DiferT:
(1) (A)-(1), (B)-(11), (C)-(l11), (D)-(IV)

(3) (A=), (B)-(1), (O)-(IV), (D)-(1)

)~
(2) (A=), (B)-(IV), (O)-(1), (D)-(II)
)-(
(4)  (A)-(V), (B)-(D), (C)-(I1), (D)-(1)

Options :

92090627585. 1
92090627586. 2
92090627587. 3
92090627588. 4

Question Number : 98 Question Id : 9209066979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List Il ;

(A)
(B)
(€
(D)

Bhimpalasri
Bhairabi

List |
Sree
Purbi

(
(
(
(

1)
|
1)
V)

List Il

Bipila tarangare
Nishithe ki koye gelo
Karamilan chao birahi

Bina bazao he mamo

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(1), (B)-(1N), (C)-(m), (D)-(IV)
(A)-(11), (B)-(1), (C)-(IV), (D)-(1)
(A)-(1V), (B)-(1), (C)-(In), (D)-(11D)
(A)-(1m), (B)-(1V), (©)-(1), (D)-(1N)

Options :

92090627589. 1
92090627590. 2
92090627591. 3
92090627592. 4

Question Number : 98 Question Id : 9209066979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & A G 11 B A Sifore

(B)

(D)

gl
st

gaif
A et

WA

Tt -
() fagaadry
(y e &1 S

() & e 9rad faret
(Iv) a1 Sersi g |/

412 fau v fasedi & | 9El IR F1 994 DI

(1)
(2)
(3)
(4)

(A)-(1), (B)-=(11), (C)-(11), (D)-(IV)
(A)-(1), (B)-(), (©)-(1V), (D)-(1)
(A)-(IV), (B)-(1), (C)-(I1), (D)-(l11)
(A)-(111), (B)-(IV), (C)-(1), (D)-(11)

Options :
92090627589. 1



92090627590. 2
92090627591. 3
92090627592. 4

Question Number : 99 Question Id : 9209066980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List Il :

List | List Il
(A) Ohe jibana ballava () Tappa Ttyle
(B) Amar Pranermanush () Kheyal Style
(C) Eparabase rabe ke (1) Kirtan Style
(D) Mano jago mangala (IV) Baul Style

Choose the correct answer from the options given below:

(1 (A=), B)-(1), (©)-(1), (D)-(IV)
(2) (A=), (B)-(1). (O)-(IV). (D)-(II)
(3) (A0, (B)-(1V), (O)-(1), (D)-(IN)
@) (A)-(V), (B)-(), (O)-(m), (D)-()

Options :

92090627593. 1
92090627594. 2
92090627595. 3
92090627596. 4

Question Number : 99 Question Id : 9209066980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | & 91y = 1 e S

- Tt -
(A) SIg Sfte deay (1) <o et
(B) SIHR UIOR HFY 1y Eard e
(C) SUREHIE & (1) I et
(D) H SR HTe (1v) S13d Qe

1 feu 7o faeedi § 9§ 9el It &1 994 DIfeIg:

(1) (A)-0), B)-0, (©-(n), (D)-(IV)
(2) (A=), (B)-(1), (C)-(IV), (D)-(IN)
(3)  (A)-(I), (B)-(IV), (O)-(1), (D)-(ID)
(4) (A=), (B)-(I), (O)-(1), (D)-(I)

Options :

92090627593. 1
92090627594. 2
92090627595. 3
92090627596. 4

Question Number : 100 Question Id : 9209066981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List | with List II :

List | List I

(A) Somgama gagane () Joydev
ghorghanaghata

(B) Bhara badara maha (II) Gobinda das
bhadara

(C) Lalita labarga lata (1)  Bhanu Singher

(D) Sundari radhe aoyeboni (IV) Vidyapati

Choose the correct answer from the options given below:

(1) A=), B)-(In), (C)-(1), (D)-(IV)
(2) (A=), (B)-(1v), (O-(1). (D)-(IN)
(3 (A)-(l), (B)-(), (C)-(1V), (D)-(1)
4)  (A)-(1v), (B)-(1), (C)-(1n), (D)-(I)



Options :

92090627597. 1
92090627598. 2
92090627599. 3
92090627600. 4

Question Number : 100 Question Id : 9209066981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(), (B)-(I), (C)-(11), (D)-(1V)

(2) (A)-(111), (B)-(IV), (C)-(1), (D)-(11)

(3) (A)-(11), (B)-(11), (C)-(IV), (D)-(1)

@) (A)-(V), (B)-(1), (C)-(I1), (D)-(l1)

Options :

92090627597. 1
92090627598. 2
92090627599. 3
92090627600. 4



